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PAPER 1 - FOUNDATION TIER

(b) Rugby OR 'R’

2013 Summer Linear Paper 1 (Non calculator) FINAL MARK SCHEME
. J Marks
Foundation Tier Comments
1. (a) (i) 32056 B1
1. (a) (ii) ten thousand (and) one hundred and two B1
1.(b) (i) 44 and 23 Bl
1.(b) (ii) 12 and 41 Bl
1. (b) (iii) 36 Bl Accept 6%, 6x6 but NOT 6
1.(c) (i) 6520 B1
1. (c) (ii) 7000 Bl
1.(d) 1,2,3,6,9, 18 B2 B1 for any 4 correct factors and up to 1 incorrect
1. (e) (i) 1346 B1
1. (e) (ii) 6314 BI1
Parts (i) and (ii) marked together
2.(a) () 11 B1
(ii) 34 Bl
2. (b) 8000 OR 8 thousand OR thousand (s) B1 BO for 1 thousand OR 1000
2. (¢) (0)-75 B1
(0)-77 Bl
073, %, 7% Bl Accept (0)-73, (0)-75, (0)-77 or equivalent
For the third B1, F.T. incorrect decimals less than 1.
B0 if given vertically.
2. (d) 100 x 19 or 100> 19.2 OR 100 x 20 MI Good estimates
OR 99 x 20 OR 98 x 20 OR 98.6 x 20 OR 90 x 20
= 1900 OR 1920 OR 2000 OR 1980 OR1960 OR 1800 Al F.T their estimates for simple calculations
SC1 for unsupported 2000
Penalise extraneous working (towards actual answer)
MOAOQ
3. (a) Value =7x9 +4 Ml Correctly substituted and correct attempt to evaluate.
=67 Al e.g. 7x9 +4 = 7x13 (=91) gets M0, A0.
OR 7x9 +4 = 66 gets M0, AQ.
3. (b) number of the term = (88 —4) /7 M1 For correct substitution with subtraction and division
=12 Al Allow embedded references to the correct answer.
All parts (a) — (b) marked at the same time v Part (a) only v
4. (a) Rugby 16, Soccer 12, Hockey 14, Tennis 8 B2 B1 for any two/three correct frequencies
If frequencies score 0, then give B1 for all 4 correct tallies.
Both axes labelled, e.g. frequency along one axis and B2 B1 if no scale but allow one square to represent 1 OR B1 if
R(ugby), S(occer), H(ockey), T(ennis) along other axis not labelled as ‘frequency’
Anywhere within the base (inc.) of the corres. bar. If frequency scale starts with 1 at the top of the first square
Uniform scale for the frequency axis starting at 0. the starting at 0 will be implied for this axis.
Condone frequency numbers alongside squares instead of at
the top of squares.
Four bars at correct heights (bars must be of B2 F.T. their table of frequencies
equal width). Can be in any order. B1 for any 2 or 3 correct bars on F.T.
If no frequencies given in their working, penalise -1 for each
incorrect frequency on their bars up to -4 (First and third
B2s)
Bl Accept 16 and Rugby, but B0 for 16 only

F.T. their frequencies

©WJEC CBAC Ltd.




2013 Summer Linear Paper 1 (Non calculator)

FINAL MARK SCHEME

Foundation Tier Marks Comments
5. (a) Missing inside segments = 5, (5) and 2 S1 One 5 with the 2 in correct places gets S1
Perimeter = 8+8+8+3-+3+5+5+2 - Ml Attempt to add all sides of the shape

FT ‘their 2’ for possible M1

If the S and 2 are not shown on diagram but both 5s and

2 are in the sum of sides for the perimeter then award S1
here.

= 42 (cm) Al C.A.0.
5. (b) Area=8x345x34+5x3 OR 8x8—5x2 M1 Attempt to add all areas of the shape OR difference of areas
=54 Al F.T. if missing sides (even incorrect) are clearly indicated
cm’ Ul Independent of all other marks.
6. (a) 6x B1
6.(b) (P=) 66 B2 B1 for either 30 OR 36
B0 for 30T and/or 36H
7. A(6,—5), B (-2, —4) and C(-3, 3) plotted. B3 Bl for each. Reversed coordinates get B0.
Letters A,B.C not needed.
8. (a) Use overlay
ABC = 54° (22°) Ml
BA =9 cm (2 mm) Ml
Completed triangle. Al Dependent on at least one M1
8. (b) Reflex B1
v
8. (c) 2 litres = 2000 (cm®) Bl
Height = 2000 M1 FT their 2000
20x%25
(Area of base =) 500 (cm?) Bl OR correct one stage of calculation. E.g. 2000/20 = 160
Height = 4 (cm) Al or 2000/25 = 80
9. (a)
B2 B1 for each of 1st and 3rd quadrants
0
Parts (i) and (ii) marked together
®) @)
. Bl Only the correct line drawn
The line gets B1 even if only the part that is in the shape
(i)
Bl Only the correct two lines drawn

‘Horizontal' line (and vertical line should look as if they are
bisecting the shape

©WUJEC CBAC Ltd.




2013 Summer Linear Paper 1 (Non calculator)

Marks

FINAL MARK SCHEME

Foundation Tier Comments
Both parts (a) & (b) marked at the same time
10. (a) Overlay (viewed with diagram)
Plots P1 Allow ONE error within a small square.
Line Gl If the points are plotted incorrectly, allow a curve through
points, line segments or line of best fit.
10. (b) Any correct strategy, e.g. 10 times value at 37 Ml Any correct method using graph or table.
980 (N) Al F.T. their graph.
Unsupported answers in the range 970 — 1000 inclusive get
M1, Al.
All parts (a) — (b) marked at the same time
. & @ 1 (1) 2 B2 B1 for at least 4 correct entries from 2nd and 4th columns
o o @ 3
B 2 @ s
@ 3 (® 6
= 10 B2 E.T. their table
— LSW. .
® 0 16 B1 for a numerator of 10 in a fraction less than 1.
B1 for a denominator of 16 in a fraction less than 1.
Penalise -1 once only for wrong notation, e.g. 10 out of 16
@) 1% o0 OR % x 80 M1 | F.T. their (b)(i) ifa fraction less than 1 and # %,
16
=50 Al Penalise incorrect cancelling of 10/16 here.
50 out of 80 gets the M1, A1 but 50/80 gets M1, A0.
(iii) 80 x 90(p) — 50 = (£)1.20 OR M1 F.T. full method of
OR 7200(p) — 6000(p) OR (£)72 — (£)60 80 x 90p — “their 50’ x £120
rounded up or down figure if their 50 is not a whole number
OR 30x90 —50%30 (=2700~1500)
= (£)12 or 1200(p) Al =1200
12. (Weight of half the water) = 18 — 11 =7 (kg) Bl Weight of water = 14(kg) gets Bl
(Weight of bucket) =18 —2x7 OR 11-7 M1 FT ‘their 7’
=4 (kg) Al
13.(@) (x=) 180-90-36 OR 90-36 Ml
= 54(°) Al
13.(b) 65+57+98=220 Bl
360 -220 OR sight of 140(°) M1 E.T. 'their 220"
(y=) 40(°) Al Condone mathematical reversals, e.g. 220 —360 if correct
answer follows i.e. 140 in this case.
14, (a) All points plotted correctly B2 B1 for at least 3 correct plots
Ignore line of best fit
14. (b) Positive Bl Do not accept descriptions.
14. (c¢) Line of best fit with points above and below B1 Line of best fit must be appropriate for the trend of points
Do not accept a line drawn corner-to-corner of graph paper
14.(d) Their estimate, from their line of best fit B1 FT for their incorrect line of best fit
OR only if no line shown then accept answers in the range
(£)430 to (£)460 inclusive
14. (e) Evidence of takings / number of customers Ml Accept for any pair of values in proportion or any pair of
values on the line of best fit, or using the gradient of the line
of best fit. For the idea of proportion of takings/customers,
which candidates may find from one set of values or
summations
Approximately (£)5 (Accept £4.40 to £5.50 inclusive) Al Accept unsupported answers in the range
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2013 Summer Linear Paper 1 (Non calculator) Marks FINAL MARK SCHEME
Foundation Tier Comments
15 Award equivalent seer: within looking at a fixed time period,
(Manana Water cost for 700m’ of water) e.g. [ year, 2 years
0.06x700 OR  6x700 Ml
42(€) 4200(cents) Al Do not accept 4200€
(Channel Water cost for 700m’ of water)
30+ 0.02x700 M1 Or equivalent. Must be consistent units for M1
= 44(€) Al
(But, for Channel Water first bill cost is) M1 FT ‘their 44’ provided previous M1 awarded or sight of 30
44x0.8 OR 44 —0.2x44 (=44 —-8.8(0) +(0.0)2x700 (or 1430) used in calculation or similar
calculation with place value error
352(0€) Al 1If MO, A0, due to working with only 1/3 of 44 reduced by
20%, then SC1 for an answer of 41.06(..) or 41.07
Choice, with any valid reason, e.g.
‘Manana because after 1™ 3 months change’, El FT provided 1* two M1 marks awarded for each Water
*Channel first 3 months (then change to Manana)’, Company. Do not FT from 1430 or similar mixed unit error
‘In the long run Manana’, Accept answers based on a fixed time period, e.g.
considering 3 years
Look for Ignore any further incorrect calculation
e spelling
e clarity of text explanations, QWC
e the use of notation (watch for the use of ‘=", € 2
being appropriate)
QWC2: Candidates will be expected to
t work clearly, with words explaini
* p;zizr;s \3’: ;tegsear Y. With words explaining QWC2 Presents relevant material in a coherent and logical
ANg manner, using acceptable mathematical form, and with few
o make few if any mistakes in mathematical if any errors in spelling, punctuation and grammar.
. . d _
.form, spell.mg., i i Fraiiazsan QWCI Presents relevant material in a coherent and logical
include units in their final answer . : i
: 3 manner but with some errors in use of mathematical form,
QWC1: Candidates will be expected to > h
. 5 v spelling, punctuation or grammar .
e  present work clearly, with words explaining OR
OR PRESTRC Seps Evident weaknesses in organisation of material but using
fow if istakes i h ical acceptable mathematical form, with few if any errors in
¢ make few if any mista es in mathematica spelling, punctuation and grammar.
form, spelling, punctuation and grammar and
include units in their final answer QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical form,
spelling, punctuation and grammar.
16.(a) Method with at least 2 correct prime factors M1 2 correct primes before 2™ error
Sight of correct factors (2, 2, 2, 3, 3, 13) Al Ignore 1s seen
Px3*x13 or 2°.3413 B1 FT their factors (with at least one index >1 used).
Do not ignore 1s.
16. (b) E.g. ‘2 x 5" not even powers’, or ‘2 x 25 but not El Do not accept “even powers” without relevant working, nor
square’ “no number times itself gives 50”. But do accept “no whole
Or “7x7=49 and 8x8=64 (so0 50 not square)’ number times itself gives 50”
v
17. ADP=130° Bl Look at diagram throughout and award appropriate credit.
APD=25° OR PAD =75° Bl Sf)me answers will imply preceding ones, e.g. B2 if only 25
given
BRC= OR CRR= (180° —50°/2 OR 1302 M1 E.T. 'their 50" using the isosceles triangle property correctly
=65° Al C.A.0.
X = 180°- 25° — 65° . ml Dependent on the M1
=90 Al Unsupported answers of x = 90° get 0.
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